Technician B Chemical



Acid rain is caused by oxides of
a) Phosphorous and Silicon b) Carbon and Fluorine

¢) Sulphur and Nitrogen d) Carbon and Hydrogen

Ui aui & TS P! goig ¥ gl B
a) BIEpRY U4 fferesia b) HTe Td TSRS
¢) UHR U ATZCIeH d) HT U gIRSIo

Chemical formula for ‘Silver Bromate’ 1s
a) Ag:Br; b) AgBr ¢) AgBrO; d) AgBrO,



e siie &1 Iwmafe 9@ g
a) Ag:Br3 b) AgBr c) AgBrOs d) AgBrO:2

Nuclides with same mass number are called

a) isomer b) isotope ¢) isotone d) isobar

YHM SouHH &A1 a1 Yhars gy FHedd gl
a) SMFUIR b) EHEY  ¢) SAIFHICH d) 3EYIER

Which of the following reaction causes rusting of iron?

a) decomposition b) displacement c) reduction d) oxidation



31 ufaforar W&y die H S o ol g |
a) 3{UgeH b) faTT= ¢) TYHRI d) TR

Sublimation of carbon dioxide (dry ice) is a/an process.

a) exothermic b) endothermic  ¢) kinetic d) catalytic

Fa-S3-AHFRS (H Th) BT 3 U ufssar g
a) ST I b) SIS SRIUGED d) IARF



What volume of 12 M HCI must be added to water to prepare 10 liters of 1.5 M
HCI1?
a) 1.250 L b) 2.500 L ¢)0.125 L d) 0.250 L

10 TeT 1.5 M HCl dOR &34 & e gt & 12 M Hel &1 fea=it amE et
g
a) 1.250 L b) 2.500 L ¢) 0.125 L d) 0.250 L

The volume of 0.0125 M H;PO, required to completely neutralize 50 ml of
0.015M Ca(OH); is ;
a) 10 ml b) 20 ml ¢) 40 ml d) 80 ml



50 ml 0.015 M Ca(OH), &I QUid: ZARH H & T 0.0125 M HsPOs Bl
fa=t 7 frerh gl
a) 10 ml b) 20 ml c) 40 ml d) 80 ml

Which of the following is not a correct statement about the trends when going
from left to right across a period of the periodic table?

a) The elements become less metallic in nature.

b) The number of valence electrons increases.

¢) The atoms lose their electrons more easily.

d) The oxides become more acidic.



raqarult (AfRafS® caa) & 3rad H € § g1Y §Id 99T & I & aR
# Ffafea & @ -1 oyF 98 981 82

a) Il @1 upfa # enfadar 4 gt S g

b) 34 gl B TE H g et 31

¢) 3U] U g 3P TetaT § T & B

d) HiFarzs 3ifires TRifSe® & o B

Considering the elements B, Al, Mg, K and Ca, the correct order of their
metallic character is :

a)B>Al>Ca>Mg>K b)Ca>Al>Mg>B>K
c)K>Mg>Al>Ca>B d)K>Ca>Mg>AIl>B

dd@ B, Al, Mg, K 3R Ca #, 3% u1fcdd T[0T H1 ! v H o1 1IN
a)B>Al>Ca>Mg>K b)Ca>Al>Mg>B>K
c)K>Mg>Al>Ca>B dK>Ca>Mg>Al>B



For the process to be adiabatic, the correct condition is
a) Heat transfer q=0 b) Temperature change AT=0
¢) Pressure change Ap=0 d) Work done w=0

ufshar &1 ufSarefes 811 & forg, et fRufd gl
a) ST a0 q=0 b) AU UREd= AT=0
c)mﬂﬁ?ﬁf:lﬂpzo d)ﬁfmwmw=0

Enthalpy of combustion of carbon to CO» is -393.5 kJ/mol. Heat released upon
formation of 88 g of CO; from the process would be
a) -1574 kJ b) -787 kJ ¢) -196.75 kJ d) -393.5 kJ



P T CO, F Tssaa Pt SHIILRGT -393.5 ki/mol 81 39 UlhaT § 88 g
CO, T W w1 FAdart

a) -1574 kJ b) -787 kJ ¢) -196.75 kJ d) -393.5 kJ

Malachite is an ore of

a) Aluminium b) Copper c) Zinc d) Iron

AdBIET B ISP
a) TagHifan b) &l o) iS5 d) drer



Hydrogen peroxide is

a) an oxidising agent b) a reducing agent

c) both oxidising as well as reducing agent d) none of these

a) JHIGHIHRU Taie b) VBV TIE
¢) SHTHIHRUT Td AYHU Toic G d) 379 Y B el

Which of the following metals does not react vigorously with oxygen in

ambient conditions?

a) Na b) Al c)K d) Mg



oitash fRufaal & Fofafea & @ $H-8 uig sa=idagds sreie 9
yfafssar g il
a) Na b) Al o) K d) Mg

Sulphuric acid is manufactured by

a) Ostwald’s process b) Dow’s process
¢) Haber’s process d) Contact process
GRS TS &1 HHir g Ufchar gRI gl 82

a) Sfikedres Hfshar b) ST3 Hfchar

¢) BTaR Ufshan d) BIcae Ulchd



The bleaching action of Chlorine is due to:

a) chlorination b) oxidation ¢) reduction d) hydrogenation

FAINA D1 seiif<v b fFae SR 8t 872
a) FARMRHE b) HTteHRuT ¢) AYHI RECIEELE!

The strongest oxidizing agent is
El) F; b) Cl_‘g C) Bl'1 d] lg

a9 gfaaqamett sifqdteo woie gl
a) F2 b) Clz c) Br2 d) Iz



Elements from which of the following family will most readily form an anion?

a) Alkali metals b) Nitrogen family c) Chalcogens d) Halogens

fafefaa 3 O fod T & dd 3if¥e daral § T §-1a?
a) 3feehall UTqy b) AIZCISH Tqg
¢) HepIoi THE d) gaieH THg

A steel rod has a radius of 10 mm and a length of 1.0 m. A 314 kN force stretches
it along its length. Young’s modulus, of steel is 2.0 x 10'' Nm™. What would be

the elongation of the rod?

a) 1.59 mm b) 3.5 mm ¢) 5.0 mm d) 10.0 mm



U W 31 T ! 3591 10 mm 3R TS 1.0 m 81 314 kN T §d A
39 darg § Wi o 8| W &1 IR Hisge™ 2.0 x 10" Nm? g1 3 &t
darg feal g S

a) 1.59 mm b) 3.5 mm c) 5.0 mm d) 10.0 mm

o

Consider the following two statements with respect to the given stress-strain

curve for materials A and B.

350 (1) Material A has higher Young’s
A
a0 /’/_,,_— n// modulus of elasticity than material B.
250 |
) i) Material B fractures at a stress of
S 200 T_u (i)
2 150 250 MPa.
“ 100
o Which of the following options is
0
0 0005 001 0015 002 0.025 correct?
Strain
a) Both statements are true. b) Both statements are false.

c}) (1) is true, (i1) is false. d) (1) is false, (ii) is true.



e A 31R B % RIQ Ry TG R o 7 & wy PRI @ e 31

= Q T A 1 Hl Sy FeeRic
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o Terf B 21f¥
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30

0

0 m‘m u_;u u.l;lﬁ u_;J: 0.025 ﬁ'ﬂﬁf@ﬁﬁ—@[a’ﬁ:{-ﬂ[ ﬁﬁqﬂ_ﬁﬂ %?

Strain

2) G HYT Tt g b) &Il Y- Ted 2|
0) (i) &l &, (ii) T g d) (i) eI @, (ii) TE g1

In a stress-strain curve for a metal wire, the point till where the wire can return
to its original dimensions when the load is removed is called
a) Yield point b) Deformation point

¢) Plastic point d) Fracture point



Y1 & IR & LY-ELA $d | 98 fofg, 81 dIs 8¢ & 91 dR 310 Jd HTHR
A UG AT S, Fead gl

a) Uit fdg b) fa==uur foig

¢) Wifes foig d) e faig

SI unit of latent heat is:
a) J/Kg b) J/s ¢) Cal/Kg d) Cal/s

e ST D1 S| SHTS 1 82
a) J/Kg b) J/s c) Cal/Kg d) Cal/s



What voltage will be measured by the voltmeter V in the following circuit?

180
AN V
a0 30
AN A
30 a)d42Vv
& b)4.8V
12V c)7.2V
@ L d)9.6V
fofafad gfde | dieediex v ibaar aieca Alr?
18 {2
Y
an in
AN A a) 42V
30 b)48V
M—® }
Q72V
12V d)g.ev
4)

p



The rubber in the wheels of aeroplane is
a) Perfect insulator b) Slightly conducting

¢) Semiconductor d) None of these

TS SeTS & ufedl | o YR 91 aidl 87

a) Tyufa: faggaRidt b) 3q AET H fagga arae
ELEINCE EREEEIERE

Two incandescent light bulbs of 60W and 100W ratings are connected in series
across the mains. Which of the following is correct?

a) bulbs together consume 160W b) bulbs together consume 80W

¢) 100W bulb glows brighter d) 60W bulb glows brighter



60 W 3R 100 W 3T & & dTadi faerell & ded B9 R IR § IS §U
g | Fafafea & &« wgt grm?

a) G dcd fHAT®HR 160 W 1 GUd S|

b) Gl dedl AR 80 W Bt @UT Hl |

) 100 W §ed P! 9HSD 911 gt |
d) 60 W S &I IHP w1e] gt |

Water breaks into hydrogen and oxygen by means of electric current by the
method of

a) Electroplating b) Electrolysis  ¢) Electric heating d) Osmosis

_ vichur # fdggd e & HiEmH 9 UHl gigsior R SHiawdier |
fqafea grar g1

a) gAGEIw(eT b) ST

) Selfaea gifen d) SRR



The capacity of a battery is expressed as its
a) Voltage rating b) Current rating

¢) Ampere Hour rating d) Power rating

S Bt amar & ©U H 3ifiyeaed i &rdl 21
a) dicedl et b) e e
¢) TR 3fmax e d) uraR e

What is the number of electrons involved in the reaction, when 1 Faraday of
charge is passed through an electrolytic solution?
a) 12.044 X 10# b) 6.022 X 10* ¢) 96500 d)6.25 X 10'®



4t saaeifafes dia # 1 s I U & R ufafssar # wnfia gaae
1 B T grM?

a) 12.044 X 1073 b) 6.022 X 102

¢) 96500 d) 6.25 X 108

A water drop is spherical in shape because of its

a) surface tension b) viscosity ¢) capillarity d) elasticity

Ut B 58 PR H M @1 goig 9 gt o
a) g8 a91d b) ST ¢) BB d) TaTRydl



SI unit of surface tension is ;
a) N-m/s b) N/m? ¢) N-m d) N/m

Uy IH1d D1 S| THTS 1 82
a) N-m/s b) N/m? c) N-m d) N/m

Correct electron configuration for a Si atom is ;
a) 1s? 2s? 2p° 3s* 3p° b) 1s* 2s? 2p® 3s* 3p' 4s'
c) 1s? 2s* 2p® 3s? 3p' 3d! d) 1s? 252 2p° 352 4¢?




Si 319] & fore 9t Saae A sififa=arg & 82
a) 1s% 2s% 2p°® 3s? 3p? b) 1s? 2s? 2p® 3s% 3p’ 4s'
c) 1s% 252 2p°® 3s% 3p' 3d’ d) 1s% 2s% 2p°® 3s% 4s?

The radioactive material Tritium is an isotope of

a) Titanium b) Tantalum ¢) Carbon d) Hydrogen

At aa@ ifean feae sz 82
a) TSN b) T ¢) BIEA d) 8IS

What is same for two isotopes?
a) atomic mass b) number of protons

¢) number of neutrons  d) number of nucleons



3 3rEEey ® 1 < 99 gl 82
a) 3MfUge ZeqH™ b) WIe & &

¢) TS B HeE d) gfeTd= Bl FS

In radioactive decay, what depends on the number of atoms?
a) Half-life b) Mean life ¢) Rate of decay d) All of these

et e 8, sropaft &t dem w @ Rk s g2
a) 3¢ 3mg b) MAY o &TBI R d) 378 4wt



The isotope that is used in the treatment of cancer is:

a) 's0Hg b) *6C ¢) 37Co d) *53U

FWR & IUIR F U SH-T1 g UaT fHar ST g2
a) “YHg b) 1ic ¢) $2Co d) 235U

The correct increasing range of penetration power is
a) a-rays < f-rays <y-rays b) y-rays < fB-rays < a-rays

¢) B-rays < y-rays < a-rays d) a-rays < y-rays < B-rays



Y UTaR $I ! dgal 3o 1 g2

a) a-rays < B-rays < y-rays b) y-rays < B-rays < a-rays

C) B-rays < y-rays < a-rays d) a-rays < y-rays < B-rays

Assume Cobalt-60 has a half-life of 5.5 years. What mass of Cobalt-60 of initial
mass of 256 g would remain un-decayed after 33 years?
a)dg bylog c)32¢g d)6d g

aH d & dlaree-60 #t 3 31y 5.5 99 B1 33 a¢ 91E 256 g F ARG
S aTd SiaTee-60 1 faraT GoqdH 31&rg QM2
a)dg b) 16 g c)32g d) 64 g



Pressure and volume of a certain amount of gas is p and V respectively.
Keeping the temperature fixed, if the pressure is reduced by 75%, then what
would be the final volume of the gas?

a)4/3V b) 3/4 V )4V d)16 V

U Af¥a e &1 19 &1 g« 3R uRymr a9 p 3R v 8 | agaH fRR Rad
g afe 319 75% TeraT Sral g, a 1 &1 sifeqw ufvmmor aar gm?
a) 4/3 V b) 3/4 V 4V d) 16 V

In case of collision of two molecule of an ideal gas

a) Only the linear momentum is conserved

b) Only the kinetic energy is conserved

¢) Both linear momentum and kinetic energy is conserved

d) Both linear momentum and kinetic energy are not conserved



T 31 19 F & 3sfi T Theid g1 W

a) AT XAF T TR e

b) | TIfceT Sl TRferd @it

¢) YA FaT 3R N St gl e W@ |

d) YR "7 3R 7t Sl gl SRfard el Tl

The molar volume of any gas at STP is ;
a)224L b)2.24L c)44 L d)242L

grarer iR fed ot g &1 9iaRr gl &1 g
a)224L b) 2.24 L c) 44 L d)242 L



According to Graham's law, at a given temperature and pressure, the rates of

diffusion ra/ rg of gases A and B is given by . (M, and Mg are molar

masses of the gases)

3) Ma/Ms b) Ms/M ) (MA/Mg)'2  d) (Mp/M,)'"2

I18d & 99 & SFER, fAT T amuEM ok g1d W, 19 A 3R B & fawrur
&R ra/ rs [E® gRT & S B2 (11 & HITR SEHA Ma 3R Me )
a) Ma/Ms b) Ma/Mx ¢) (Ma/Mg)'2 d) (Me/Mp)'"”2

According to the Dalton’s law of partial pressures, the total pressure of a

mixture of ideal gases is equal to the

a) difference of the highest and lowest pressure
b) product of the partial pressures
¢) sum of the partial pressures

d) highest of the partial pressures



3if¥1e gTa & See FaH & IR, e 4l & sy &1 Fd ard frad
SRR Bl &7

a) IqH 3R AFdd 31d &1 3R b) 3HifRI® g4 BT UAHA

¢) 3HifRAF Id BT AN d) 3R g &1 I=ad

Nitrogenous fertilizer is needed

a) during the early stage of plant growth to promote the development of stems
and leaves.

b) for accelerating fruit formation in later stage of growth

¢) to lessen the effect of excessive potash application

d) to reduce weeds



AZEISH aTe IRE B HTLID BId 87

a) a1 3R uftrdl & faera & Tgrar & fore 9 & fasma ot smkfie srawa
& aRH

b) fawra &1 sifqw srawn ¥ wd UgaR dgM & fog

¢) Sifafva e & UHId &l H HA & e

d) °UT-UTd &1 $H 31 & forg

Humidity in the atmospheric air can be measured by

a) Anemometer b) Hygrometer  ¢) Hydrometer  d) Barometer

TR0 H ST al B! fbgd gRI AT S Yl 82
a) UFHIMer b eI BRI} d) KRR



Equilibrium between water and its vapour in an open vessel

a) can be achieved b) cannot be achieved

¢) depends on pressure d) depends on temperature
fodt ot 7 & g SR AT & St BT -

a) T foran 1 epan g1 b) UT a1 fbar o1 g 81
o) T R AR S B d) A R AR SR g

Le Chatelier principle is applicable to

a) irreversible reactions b) homogenous reactions

¢) heterogeneous reactions d) systems in equilibrium



1 RITaTTerd Rigid 359 IR @8Il o7
a) Skl ufafhand b) T widishard
o Frsanft st o TR ot

Absolute pressure is

a) atmospheric pressure at mean sea level

b) atmospheric pressure expressed in kg/cm?

¢) equal to algebraic sum of atmospheric and gauge pressure

d) pressure as seen on the gauge of pressure measuring instrument

ROy e AT 82

a) 3MTd WH Ydg U ardIaruiig grd

b) kg/cm?H SRIT 74T ATATaRUNY g1d

¢) AIATaRoNg 3R 7S q1d & SorTordig I & avIe]
d) <14 HIUA IUHIT & TS R f&arg 3 aran gie



Which of the following instruments should be used if only a visual indication of
pressure level is needed?
a) manometer b) diaphragm sensor

¢) piezo-electric sensor d) strain gauge sensor

i gTa TR &1 713 T Yabid diie ol ot Fufafad & § &H-91 Iuau
TN BT AMfRT?

a) AR b) STATHTH TR

) firsil-gafdes T d) T 715 §W

What height of water column produces the same pressure as 50 mm high Hg
column?
a)3.67m b) 680 mm ¢) 10.336 m d) 860 mm



S Biad $I fbat SIS, Hg DITH F 50mm HATS P GAM T I
M
a) 3.67 m b) 680 mm c) 10.336 m d) 860 mm

The operation of Pirani gauge depends on

a) variation in thermal conductivity of gas with change in pressure.
b) variation in electrical conductivity of gas with change in pressure.
¢) variation in humidity of the medium with change in pressure.

d) variation in electrical conductivity of gas with change in temperature.



AR 1 &1 e feg R Mk sxar g2

a) &8 ® uRad= & 91y 19 & a1y daraedl | sqad

b) g1d ® uRad= & w1y 19 ®1 gy Jarasar & saa

¢) 19 § ufkad & Ty HIeqH B gl H seard

d) AToHE ® uRad= & 914 19 &1 [dggd Saradal & sgad

Thermocouple based temperature sensors work on
a) Peltier effect b) Seebeck effect
¢) Thomson effect d) Kirchoff effect

AUGHF STRG AT TR 5y oMUR R &1 &d 2
a) OfeeTR yuTg b) e UG
¢) YIHE U4 d) faraie uurE



Which of the following is a correct statement?
a) PI controllers improve steady-state response.
b) PD controllers improve transient response.
¢) both (a) and (b)

d) neither (a) nor (b)

frafafaa & ¥ S1F-91 $u= T8 82

a) PI fFIdae RTE-g= Sferar & YUR Fd &
b) PD e &ftres srforan & GUR &d B
¢) (a) Td (b) I

d) (a) Td (b) G TRl

Which of the following is an active transducer?

a) LVDT b) Thermocouple ¢) Thermistor d) Strain gauge



fafafea 4 9 w1 1o Ifea gasRmR 87
a) LVDT b) AU o) uffeeR d) faefa amdt

The functional group present in organic acids is )
a) - COOH b)- OH ¢)—-CHO d)-C=0

3 Tfrst # Sufia yeriets 94 $1H-91 87
a) ~COOH b) -OH ¢) -CHO d) -C=0



The best and latest technique for isolation, purification and separation of

organic compounds 1s

a) Crystallisation b) Distillation ¢) Sublimation  d) Chromatography

i iy & fagiem, YEFHR SR gyganur & fon waem ok sraH
JH-tep T 8?2
a) fopeeciiarur b) 3Ta— ¢) SeauraA d) IHCITHT

Hydrocarbons in which two carbon atoms are joined by a double bond are

called
a) Alkane b) Allcyne c) Alkene d) Alkaline



o BIRSIHIa | Q1 BT 3] Sad ai<e 9 IS Bid o, 1 Hedld 67
a) 3feh b) 3HeHT2 ¢) b d) Sfeharg_

is used as an indicator test to determine the general quality of the

water.
a) Oxidation test b) Reduction test
¢) Total dissolved solids test d) Organic test

o & I Uil FuiRda s s i &1 Gadie uRieu & ©9
| v fasar ST g

a) SHTRITHROT TH&TT b) TAYHUT GA&0T

¢) T YN 319 TL&or d) 3T Temn



The treatment for an elevated total dissolved solid depends on
a) Quantity of water b) Nature of ions

¢) Nature of suspended solids d) Type of microbes

IR T ga-itd 319 el &1 IR frg R MR sxar gl
a) ST 1 HEAT b) 319 B UHfd
o) Fdifera 31 gy &1 wefd d) G&asidl &l UHR

Blowing down of boiler water is done to

a) reduce the boiler pressure

b) increase the steam temperature

¢) avoid concentration of impurities in the boiler water

d) increase the boiler pressure



FIgeR ofd 1 saleT 8134 Ufeha farafrd &t St 82
a) SIGeR G4 B HH HA & [T
DELHEEIEHEE ALY

¢) SR od H YfSal b1 Yo AP & farg

d) STIeR 216 I 9gH & g

Which of the following polymer is not a thermoplastic?
a) Teflon b) Polystyrene ¢) Polythene

ffafaa § 9 o19-a1 uldiaR yafenfes 98 22
a) T b) Tifere A ¢) Tiferfi=

d) Neoprene

d) fAarh=



Organic acids used in food preservation include

a) Nitric acid b) Boric acid ¢) Hydrochloric acid d) Benzoic acid

@Te TR0 & fore wan fbu o arel sifife uRre & o fiyan grar &2
a) Afesd TS b) i TS
o) BRI RIS S RSIEC AU

What happens when carbon monoxide is obtained in flue gas analysis?
a) Combustion is complete b) Combustion does not take place

¢) Combustion is incomplete d) It increases the rate of combustion.



o] T faeryor & e ATeflass Ui g IR 9 gl o7
a) g qul gldT 8| b) &g gl glal g
¢) &g Ul gl g d) U8 &g DI T eIl 5

For Flue gases, Orsat meter is used for
a) Gravimetric analysis b) Volumetric analysis

c) Mass flow d) Measuring smoke density

o Tt & forg - 3ifde diex” fara g wanT fasan e &2
a) WRTHdTT favago b) 3MTaa-t fazeyor
¢) SIHM Udlg d) Y3ff T-Td1 DI A4 & ferg



The chemical formula of Urea is ;
a) (NHs).CO; b) (NH4).CO ¢) NH.CO d) NH.CONH,

i &1 IS T F1 811 87
a) (NH4)2COs b) (NH4):CO  ¢) NH.CO d) NH2CONH:

The most widely used disinfectant for drinking water is

a) lime b) chlorine c) alum d) sorbic acid

41 & Uil F1 INMUHE B & foIT STues U F 1 YA fahan STt 82
a) g1 b) T o) et d) e s



Higher resolving power in a microscope can be achieved by

a) using longer wavelength illumination and increasing objective numeric aperture
b) using longer wavelength illumination and decreasing objective numeric aperture
c¢) using shorter wavelength illumination and increasing objective numeric aperture

d) using shorter wavelength illumination and decreasing objective numeric aperture

geresit # SR fave emdl {59 UeR Ui &t 57 9t o7

a) 3fie deft a¥reed udia &1 W R IR T Fifers! GRS 3 9gR
b) e oieft TS Ut &1 WA SR 3R axIfY WifSidt GRS B g
o) i S auTeE UdiaH 1 TR FR AR T TifId! GRS $i g
d) 31l B aoeef Ui 1 v #R 3R T Wi GRS B U

In a thermodynamic process, if net enthalpy is positive, then reaction is

a) Exothermic b) Reversible ¢) Endothermic  d) Irreversible



Fwrfde ufewr # afe Ao Fwuldr 9eR@Es &
fuferar__ghft

a) §RIAU  b) IehHUT o) @A d) 3ffehHulg

With respect to hydrogen, chlorine will be

a) Electropositive b) Electronegative ¢) Neutral d) None of these

gISSioH &I gaT H, FadR ____ 8
a) A UMNIed  b)SadelFifed o ROy d) ST A FIS 781



Electrolysis of aqueous HCI solution produces
a) Hydrogen gas at anode b) Hydrogen gas at cathode
¢) Chlorine gas at Cathode d) Both Chlorine and Oxygen gases at anode

Selia HCl Bt &1 Iy SfaueH o1 7 Bl 87

a) T8 TR gIggIoH T b) FUIS W RIS T
o) PUE W AR 19 d) TAIE W il 3R 3ifarfieH 19

Benzene is

a) Aliphatic compound b) Straight chain compound

¢) Aromatic compound d) Odourless compound



Borosilicate is preferred choice of laboratory glassware because
a) It readily reacts with chemicals

b) It has high coefficient of thermal expansion

¢) It is unbreakable

d) It is a good chemically inert material

daRest # i & g & fore aRRferdre i wig faan Sran g2
a) Tg WAl | T fufehar sar g

b) THT AU TR TN I g

¢) U gedl el &

d) T8 TN ¥ ¥ fery uerd B



Settlement of particles at bottom of a tank and their removal is called
a) Coagulation process b) Sedimentation process

¢) Filtration process d) Chlorination process

THhl & dd U U & oTH 3R I8 g DI Ulhar FT Hgdrd! g7
a) ThaA ufdsar b) 3faqrg- ufshar
¢) B ufesar d) FeTe o ufshan

Potential of Hydrogen of an aqueous solution can measured using ;

a) Venturimeter  b) Thermometer c¢) pH meter d) Hygrometer



S O &1 SIS SIo &l &I fhad [T S 9l 82
a)dgdidier ) YAt ¢) pH HicR d) At

Which among the following is used to measure an accurate volume of liquid?

a) Conical Flask b) Test tube c) Beaker d) Measuring cylinder

IR & Fg! 31ga- i 7194 & ferg Fafafaa d 3 fae yar fasar srare?
a) BB TS b) ¢ & ¢) SR d) A9 f¥ee



When Relative Humidity (RH) is 100%, then

a) Wet Bulb Temperature is greater than Dew Point Temperature
b) Wet Bulb Temperature is less than Dew Point Temperature

¢) Wet Bulb Temperature and Dew Point Temperature are equal

d) Dry Bulb Temperature is less than Wet Bulb Temperature

TS W& T (RH) 100% et 8, al
a) 3% §ed P ATYH S URB< dT9HH ¥ e grar g
b) 3T Sed P ATTHM S UR< dIHH & $H gidl |
¢) 3T% §ed &1 dYH Y UIS< dIYAH & 9 8iar g
d) Y& §ed AIHM 3T Sedl dTIHH 9§ HH gidl 8|

What is the principle on which crushing equipment work?

a) Attrition b) Impact c¢) Cutting d) Compression
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a) Tf-eEdo b) T ¢) BleAT d) TPhad

Floating roof storage tanks are used to reduce
a) Evaporation losses b) Leakage losses

¢) Eddy current losses d) Friction losses

T % TR b 1 $H H31 & forw ya fFu o &2
a) ATSH0T &ifd b) fearg afa
¢) Ufs &ie &fd d) a7 &if



Which of the following metals is not extracted by leaching?

a) Aluminium b) Mercury c) Silver d) Gold

frafafaa & ¥ $H- g Pera grr 761 AT st 82
a) TgAfaH b) URT ¢) gidt d) T

Acid + —s salt + water
a) Base b) Oxygen c) Metal d) Water
RS + — FicT + 9d

a) 99 DEICISE ¢) UTqg d) 5d



In an equilibrium system, then rate of forward reaction is rate of
backward reaction.
a) Less than b) Equal to ¢) More than d) Twice the

T Gafera et 7, 3 e o o), vy sifvfra B R gIei &1
a) U HH b) & IR o9 3ff¥EH d) 9 ErHl

Which is not true with respect to Pitot tube?
a) It does not contain any moving parts

b) Permanent pressure loss is low

¢) Used to measure velocity of flow

d) It gives accurate readings at low velocities
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The electronic configuration of Silver is
a) [Ne]5s'4d'®  b)[Ar]5s'4d'’  ¢) [Kr]5s'4d'® d) [Xe]5s'4d"

Tidl $T 3ATe D =g ... BT 8

a) [Ne]5s'4d'® b) [Ar]5s'4d™® c) [Kr]5s'4d™ d) [Xe]5s'4d™



What is the weight of an Aluminium sheet of 1-meter length, 10 cm width and

1 mm thickness? Take density of Aluminium as 2.7 gram/cm’.

a) 27 kg b) 2.700 kg ¢) 0.270 kg d) 0.027 kg

1 meter TaTS, 10 cm AISTS 3R 1 mm HiETs arel TRy e &1 aoH
T II? (TIMAATH &1 ¥9d 2.7 gram/cm?® HH )

a) 27 kg b) 2.700 kg ¢) 0.270 kg d) 0.027 kg

Which instrument is used to measure the specific gravity of electrolyte in lead
acid battery?
a) Barometer b) Hydrometer

¢) Anemometer d) High rate discharge tester
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a) SRIHIER b) ERESIHIER
¢) tfmfte d) 39 R fomrt ewex

What is the least count of a Vernier caliper?

a) 0.001 mm b) 0.01 mm ¢) 0.1 mm d) 1 mm

iR SR gR1 fba-t <gad 7o 1 S St 82
a) 0.001 mm b) 0.01 mm c) 0.1 mm d) T mm



a) Formation of lather b) Formation of salts

¢) Formation of carbonates d) Formation of bicarbonates

G AT fafdl & 3Fam= @1 sifad fig gl
a) SR &I &1 b) Hiee &I &1
¢) BIEHE BT T d) SEPEMC &I G-

Equivalent weight of NaOH is
a) 40 Kg/mol b) 40 g/mol ¢) 80 g/mol

NaOH &1 THqed dol9 &1 gII?
a) 40Kg/mol b) 40g/mol c) 80g/mol

is the end point of the titration in the soap titration method.

d) 80 Kg/mol

d) 80Kg/mol



Solubility of a gas in liquid is given by
a) Boyle's law b) Raoult’s Law c¢) Henry's Law  d) Charle’s law

TRl gerd # g ) gerien fFas gr1 & St 2
a) S1ad &1 FaA b) Iee &I FFaH
o) 278 1w d) ared &1 fgw

Methyl orange is used in the titration of HCI with Na>CO;
a) to act as catalyst b) to act as inhibitor

¢) to act as an indicator d) to act as solvent



Na;CO; & 1Y HCl & SFTHGH | fHYRd RS &1 WarT fhg =4 d faa
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a) SARD & ©U A b) RIS & =u H

¢) Yggs & &g o d) faeras & Eu

Lowest Temperature at which a material’s vapours ignite from an ignition
source is called

a) Boiling point  b) Flash point ¢) Melting point  d) Critical Point

FAqH AIHH R R TssaeH A ¥ fedt gt &1 ar gsaferd g g,
3 T HEd 87
a) 3914 foig b) X faig o) TaI® d) wifde® foig



Which of the following used as a fire extinguisher?
a) Sodium bicarbonate b) Sodium carbonate

¢) Sodium Chloride d) Ammonium Chloride

fRufefed 7 3 5 iffme & =u o vai fear a8
a) OIf$Ty SI3HEAT b) TIfSTH HIEHE
o) QifeaH FwiRSS d) SHIAH FRISS

Which one of the following elements is found in free state in nature?

a) Silver b) Gold c¢) Iron d) Copper
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a) Tid! b) T c) gl d) dife

Which one of the following elements is inert gas?

a) Chlorine b) Argon ¢) Hydrogen d) Nitrogen

fuferfed & 9 $19-91 da sifha 9 87
a) AR b) 3w OBBISH  d) AEeIeH



The amount of heat required to change a liquid to gas without any change in
temperature is known as
a) Specific heat b) Latent heat of fusion

¢) Latent heat of vaporization d) Thermal capacity

aua | ulkadH o, ava & 19 ° uRafda @A & fou S & snawas
A 1 Hean 62

a) fafRe = b) GG DI [ ST

¢) ATTHRUT B e FHEAT d) AUy &

Density of water is maximum at
a) 0°C b) 4°C c) 100°C d) 273°C



d &1 99 {9 argaE W) ey eidr g2
a) 0°C b) 4°C ¢) 100°C d) 273°C

In which scale, the temperature cannot be negative?
a) Celsius scale b) Fahrenheit scale

¢) Kelvin scale d) None of these

fFg TR R, dUEE THRIES ) 8! Fbdl 22
a) AfRTag YA b) BRAEIZE YA
¢) Pfea AT d) 399 9 15 el

The main constituents of air in atmosphere are:

a) Oz and COy b) O; and O4 ¢) O; and Ha d) Oz and N3



qTaTaRYl § g4l & - UCh gl
a) 02 iR CO» b) Oz 3R Os ¢) Oz 31X H2 d) Oz 3R N

The equation for burning of butane is: mCsHyp + nO; - pCO; + gH:0, where .
aym=3,n=13,p=12,g=10 b)m=1,n=10, p=4,q= 10
c)m=4,n=3,p=8,g=10 d)m=2,n=13,p=8,g=10

A F Tsaad BT FHB mCaHio + nOz - pCOz + qH:0 BT B,
el

aim=3,n=13,p=12,q= 10 b) m=1,n= 10, p=4,q= 10

ccm=4,n=3,p=8q=10 dm=2n=13,p=8,q9=10



Uniformity of temperature in a chemical bath can be achieved by the following
heat transfer method.

a) Conduction b) Convection ¢) Radiation d) All of these

TIAE S H dIHE Bt Uheudl fRufef@d arg siavor fafe gry urd &t
S gl 2l
a) gaTe b) HaTlgd ¢) fafes=ur d) 379 9§ Tt

The valency of aluminium is
a) +1 b) +2 c)+3 d) +4



qfafon Y Saeear g

a) +1 b) +2 c) +3 d) +4





